nanosecond

10/04/16 aplligrt57627 35.ppp_defaut—2d-15

413
412;
411;
410;
409;
408;
407;

406 -

405 f
404 4/

403 1

402

401 -

|
57632

|
57640

57648
MJD

|
57656

Mdev

Tdev /s

614400 s: Mdev= 0.41169E-14 Tdev= 1460 ps
307200 s: Mdev= 0.30928E-14 Tdev= 549 ps
153600 s: Mdev= 0.20704E-14 Tdev= 184 ps
76800 s: Mdev= 0.22091E-14 Tdev= 98 ps
38400 s: Mdev= 0.29189E-14 Tdev= 65 ps
19200 s: Mdev= 0.37205E-14 Tdev= 41 ps
9600 s: Mdev= 0.46552E-14 Tdev= 26 ps
4800 s: Mdev= 0.74401E-14 Tdev= 21 ps
2400 s: Mdev= 0.12092E-13 Tdev= 17 ps
1200 s: Mdev= 0.18531E-13 Tdev= 13 ps
600 s: Mdev= 0.32308E-13 Tdev= 11 ps

300 s: Mdev= 0.72358E-13 'Il'dev: 13 psl*.
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